Al E 5

*

Fir -

B E B B

=

A E

-

PN < -

HATEAILIEADEC LIS PEERE (152)

HATEAXLEEADEEC LA PREERE

fEENT B6&H

T 26 £ 10 A 15 H

9 B 3
LR o/ 3=

2Y

(K B)

5~ 9 B 325

= B F:E‘s;m'i__
B arx 'ln:mfﬁ ‘EIJ‘”” [7?':” I?'} iﬁ?.m 555
0 oo :
0 B @)
0 ——
0 i = Il
1|
AN T -
- A \jwl.-:n ] yl‘ii T 1E u I ==
OO 0 ::g: __.!:in l!.fl— :?na: ._.__g_:.%gml‘: . ZTT‘L i
0 H il
0
0
0
BIEFFR
B 5E Hh 25 (R4 BL—R)L k=77 —)
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1) Em%=E 0.10 0.10 0.10
(2) BEEESR 0.04 0.06 0.05
() HERFRT 0.12 0.11 0.10
(4) BEBIMeR=EqD 0.08 0.08 0.06




